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QUESTION 1

What is not an operational benefit of Cloud Computing? 

A. Instant server deployment 

B. Less IT staff 

C. Managed services 

D. Possibility of back-ups as a service 

Correct Answer: B 

 

QUESTION 2

What is not a security measure associated with the Single Sign On (SSO) principle? 

A. Active directory authentication 

B. Security token 

C. SOAP protocol 

D. Smart card 

Correct Answer: C 

 

QUESTION 3

What is a good question to ask a prospective Cloud provider? 

A. How can we access the servers in case of an incident? 

B. How is data partitioning done? 

C. What are the names of the Service desk employees? 

D. What are the provisions when a service ends? 

Correct Answer: D 

 

QUESTION 4

What does CaaS represent? 

A. combining applications in a single access system 

B. communication applications provided by an offsite location service provider 
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C. computer maintenance services provided by an external service provider 

D. computing services provided by an offsite location service provider 

Correct Answer: B 

 

QUESTION 5

What is an important benefit of using a hybrid model for cloud services? 

A. It allows the purchaser to save money in infrastructure and licenses. 

B. It allows the separation of sensitive data from less sensitive data. 

C. It provides better performance. 

D. It provides the best client/server experience in a cloud environment. 

Correct Answer: B 

 

QUESTION 6

How can a move to Cloud Computing reduce capital expenditure? 

A. It can reduce the number of applications in use within the enterprise. 

B. It can reduce the number of IT staff in the datacenter. 

C. It needs less client computers to access the enterprise applications in the Cloud. 

D. It pays for the use of hardware, not for the value of the hardware at the time of purchase. 

Correct Answer: D 

 

QUESTION 7

How can moving to Cloud Computing reduce capital expenses? 

A. One can reduce the number of applications in use within the enterprise. 

B. One can reduce the number of IT staff in the datacenter. 

C. One needs less client computers to access the enterprise applications in the Cloud. 

D. One pays for the use of hardware, not for the value of the hardware at the time of purchase. 

Correct Answer: D 

 

QUESTION 8
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What is currently the most common network topology? 

A. Hybrid 

B. Point-to-point 

C. Ring 

D. Star 

Correct Answer: D 

 

QUESTION 9

What is the purpose of failover? 

A. to automatically restart the system in case of a failure 

B. to build up a back-up while the system is active 

C. to switch over automatically to another system 

D. to work on two systems at the same time 

Correct Answer: C 

 

QUESTION 10

What may be a primary driver for a start-up company to move into the Cloud? 

A. Lower operational support costs 

B. Lower operational expenditures (Opex) 

C. Much longer use of Cloud solutions 

D. Much shorter implementation time of the infrastructure 

Correct Answer: D 

 

QUESTION 11

What is an important environment related benefit of Cloud? 

A. Greater data protection 

B. Reduced dependency on the Internet 

C. Reduced power requirements 

D. Smaller bandwidth consumption 
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Correct Answer: C 

 

QUESTION 12

Where does the abbreviation SOA stand for? 

A. Service Oriented Architecture 

B. Service Oriented Application 

C. Service Organized Architecture 

D. Service Organization Agency 

Correct Answer: A 

 

QUESTION 13

What is the main challenge for providers as moving to the Cloud causes changes in relation to their customers? 

A. Cloud providers may be reluctant to ask for more money to deliver their products and services. 

B. Cloud providers need to certify their solutions. 

C. Providers will have to understand their customers business and redefine SLA\\'s for Cloud environments. 

D. Products are not delivered on premise but through the Cloud. 

Correct Answer: C 

 

QUESTION 14

What is required in order to achieve ISO/IEC 20000 certification? 

A. A member of ISO must always be present at the Cloud provider. 

B. Documentation alone is enough to be certified. 

C. The Cloud provider\\'s IT systems must be upgraded to use ISO software. 

D. The Cloud provider\\'s staff also needs to adhere to the described procedures and instructions. 

Correct Answer: D 

 

QUESTION 15

Presenting a user with a logical space for storing data and mapping this to the physical location where it is stored allows
many systems to share the same storage device. 
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What is this called? 

A. Dynamic scaling 

B. Load balancing 

C. Managed services 

D. Storage virtualization 

Correct Answer: D 
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